FRQ Packet

These are all (or almost all) of the FRQ that the College Board has given in the past 10 years broken down by unit. The key to my previous AP students’ success has been the key to anyone’s success in anything—practice.  All future FRQs on your quizzes and tests will be modeled after these.  So please download this file and keep up with your CORRECTED answers.
Unit 1: Basic Economic Concepts

1. Do parts f and g after unit 3. 
Assume that the country of Fischerland produces only consumer goods and capital goods.
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(a) The graph above shows the production possibilities curve for Fischerland. The production of which of the

following exhibits increasing opportunity costs: consumer goods only, capital goods only, both goods, or

neither good?

(b) Show a point that represents fully employed and efficiently used resources on the graph and label it A.

(c) Show a point on the graph labeled as C that will promote more future growth. 

(d) Assume there is a recession in Fischerland. Label as D a point (or as DD for a new curve) representing the recession.

(e) Assume there has been a loss of resources.  Label as E a point (or as EE for a new curve) representing this. 

(f) Identify a fiscal policy action that the Fischerland government can take to address the recession.

(g) Assume instead that no discretionary policy actions are taken. Will short-run aggregate supply increase,

decrease, or remain the same in the long run? Explain.
2.
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Using equal amounts of resources, the countries of Ashna and Luna can each produce any combination of food
and machines described by their production possibilities curves above.

(a) Which country has an absolute advantage in the production of machines? Explain.

(b) Which country has an absolute advantage in the production of food? Explain.

() Which country has a comparative advantage in the production of machines? Explain.

(@) With trade between these two countries, which country will import food? Explain.

() Give an example of terms of trade acceptable to both countrics.




[image: image3.png]£ NumBER

600

Rayland

300

NUMBER OF
BICYCLE





3. The diagram above shows the production possibilities curves for two countries: Artland and Rayland. Using

equal amounts of resources, Artland can produce 600 hats or 300 bicycles, whereas Rayland can produce

1,200 hats or 300 bicycles.

(a) Calculate the opportunity cost of a bicycle in Artland.

(b) If the two countries specialize and trade, which country will import bicycles? Explain.
(c) If the terms of trade are 5 hats for 1 bicycle, would trade be advantageous for each of the following?

 (i) Artland

 (ii) Rayland

(d) If productivity in Artland triples, which country has the comparative advantage in the production of hats?
4. 

[image: image4.png]OUTPUT PER WORKER PER DAY

Unitsof | Units of
Country Cloth Food
Newland 10 2
Beeland 10 1

The table above gives the production alternatives of two nations that are producing cloth and food, using equal
amounts of resources.

(@ (i) Calculate the opportunity cost of producing a unit of cloth in Newland.
(ii) Calculate the opportunity cost of producing a unit of food in Beeland.
(b) (i) Which nation has the comparative advantage in cloth production?
(ii) Which nation has the comparative advantage in food production?
() Now assume that the productivity of Beeland's workers triples for each good.

(i) Which country has a comparative advantage in food production?
(ii) Explain how you determined your answer.




5. 
[image: image5.png]3. The following table shows the number of donuts or cupeakes that John and Erica can each produce in one day.

Donuts | Cupeakes
Tohn 200 100
Erica 150 50

(a) Who has the absolute advantage in producing donuts? Explain.
(b) Who has the comparative advantage in producing donuts? Explain.

(¢) Assume that John and Erica decide to specialize according to their comparative advantages and that one
cupeake is exchanged for four donuts.

(i) Indicate whether or not specialization and trade are beneficial to John.
(ii) Indicate whether or not specialization and trade are beneficial to Erica.

(d) Assume that Erica discovers a new cupeake production technique that will increase her daily production of
cupeakes only. Using donuts on the horizontal axis, draw a correctly labeled production possibilities curve
for Erica, before and after the technology change in cupcake production.




Unit 2: Measurements of Macroeconomics

1.
[image: image6.png]Indicate whether each of the following is counted in the United States gross domestic product for the year 2006.
Explain each of your answers.

(a) The value of a used textbook sold through an online auction in 2006
(b) Rent paid in 2006 by residents in an apartment building built in 2000
(¢) Commissions earned in 2006 by a stockbroker

(d) The value of automobiles produced in 2006 entirely in South Korea by a firm fully owned by United States
citizens




2. 

[image: image7.png]Assume an open economy with a public sector.

Identify two methods of calculating gross domestic product for this economy.

Explain why the two methods you identified in part (a) must yield the same value of gross
domestic product.

Identify one shortcoming of using gross domestic product as an indicator of the actual level of
national output.

If nominal gross domestic product increased by 4 percent in 1996, identify two additional pieces.
of information you need before you can conclude that the living standard of the typical person
increased by 4 percent during that year.
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3. (a) The outputs and prices of goods and services in Country X are shown in the table above. Assuming that

2009 is the base year, calculate each of the following.

 (i) The nominal gross domestic product (GDP) in 2010
 (ii) The real GDP in 2010

(b) If in one year the price index is 50 and in the next year the price index is 55, what is the rate of inflation

from one year to the next?

(c) Assume that next year’s wage rate will be 3 percent higher than this year’s because of inflationary

expectations. The actual inflation rate is 4 percent. At the beginning of next year, will the real wage be

higher, lower, or the same as today?

(d) Assume that Sara gets a fixed-rate loan from a bank when the expected inflation rate is 3 percent. If the

actual inflation rate turns out to be 4 percent, who benefits from the unexpected inflation: Sara, the bank,

neither, or both? Explain.
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4. Gala Land produces three final goods: bread, water, and fruit. The table above shows this year’s output and

price for each good.

(a) Calculate this year’s nominal gross domestic product (GDP).

(b) Assume that in Gala Land the GDP deflator (GDP price index) is 100 in the base year and 150 this year.

Calculate each of the following.

 (i) The inflation rate, expressed as a percentage, between the base year and this year

 (ii) This year’s real GDP
(c) Since the base year, workers have received a 20 percent increase in their nominal wages. If workers face the

same inflation that you calculated in part (b)(i), what has happened to their real wages? Explain.

(d) If the GDP deflator in Gala Land increases unexpectedly, would a borrower with a fixed-interest-rate loan be better off or worse off? Explain.

Unit 3: AD/AS and Fiscal Policy

1. How does each of the following changes affect the real gross domestic product and price level of an open

economy in the short run? Explain each.

(a) An increase in the price of crude oil, an important natural resource
(b) A technological change that increases the productivity of labor

(c) An increase in spending by consumers

(d) The depreciation of the country’s currency in the foreign exchange market (do after unit 5)
2. 

[image: image10.png](@) Assume that businesses are granted a tax credit on spending for machinery. Using a correctly labeled graph
of the loanable funds market, show the effect of the business sector’s response on the real interest rate.

(b) Now assume instead that the tax rate on interest income from household savings is lowered and there is no.
change in govemment budget deficit. Using a second correctly labeled graph of the loanable funds market,
show the effect of the households” response on the real interest rate.

(©) Given your answer to part (b), explain what will happen to the country’s production possibilities curve in
the long run.




3. 

[image: image11.png]Labor productivity is output per unit of labor. An increase in labor productivity is a source of economic growth.
(@) Identify two sources of increase in labor productivity.

(b) Assume that a country’s economy is at full employment. Productivity has been rising. Using a correctly
labeled graph of ageregate demand and aggregate supply, show the long-run effect of the growth
in productivity on each of the following.

(i) Real output
(i) Price level

(€) Assume that the economy produces only two goods, good X and good Y. Using a correctly labeled
production possibility diagram, show the effect of the increase in labor productivity.




4.Assume the economy of Andersonland is in a long-run equilibrium with full employment. In the short run,

nominal wages are fixed.

(a) Draw a correctly labeled graph of short-run aggregate supply, long-run aggregate supply, and aggregate

demand. Show each of the following.

 (i) Equilibrium output, labeled Y1

 (ii) Equilibrium price level, labeled PL1

(b) Assume that there is an increase in exports from Andersonland. On your graph in part (a), show the effect of

higher exports on the equilibrium in the short run, labeling the new equilibrium output and price level Y2

and PL2, respectively.

(c) Based on your answer in part (b), what is the impact of higher exports on real wages in the short run?

Explain.

(d) As a result of the increase in exports, export-oriented industries in Andersonland increase expenditures on

new container ships and equipment.

 (i) What component of aggregate demand will change?

 (ii) What is the impact on the long-run aggregate supply? Explain.
5. Assume that the economy of Meekland is in a long-run equilibrium with a balanced government budget.

(a) Using a correctly labeled graph of aggregate supply and aggregate demand, show each of the following.

 (i) Long-run aggregate supply

 (ii) The output level, labeled YE, and the price level, labeled PLE

(b) Assume consumer confidence falls. Show on your graph in part (a) the short-run impact of the change in

consumer confidence and label the new equilibrium price level and output Y1 and PL1, respectively.

(c) Using a correctly labeled graph of the short-run and long-run Phillips curves, show the effect of the fall in

consumer confidence on inflation. Label the initial long-run equilibrium point A and the new short-run

equilibrium point B.

(d) If the government and the central bank do not pursue any discretionary policy change, how does the fall in

consumer confidence affect government transfer payments in Meekland? Explain.

(e) Draw a correctly labeled graph of the loanable funds market in Meekland and show the effect of the change

in government transfer payments you identified in part (d) on the real interest rate.(after unit 4) 
(f) In the absence of any changes in fiscal and monetary policies, in the long run will the short-run aggregate

supply curve shift to the left, shift to the right, or remain unchanged as a result of the fall in consumer

confidence? Explain.

6. A country’s economy is in a short-run equilibrium with an output level less than the full-employment output

level. Assume an upward-sloping aggregate supply curve.

(a) Using a correctly labeled aggregate demand and aggregate supply graph, show the following.

 (i) Full-employment output, labeled as YF

 (ii) Equilibrium real output and price level, labeled as YE and PLE, respectively

(b) Assume that the country’s government increases domestic military expenditures. On the graph from part (a),

show how the increased military expenditures affect the following in the short run.

 (i) Aggregate demand

 (ii) Equilibrium real output and price level, labeled as Y2 and PL2, respectively

(c) Using a correctly labeled graph of the short-run Phillips curve, show the effect of the increased military

expenditures in the short run, labeling the initial point as A and the new point as B. (after unit 4)
(d) Assume that the increased military spending is financed through government borrowing. What will happen

to the real interest rate? Explain. (after unit 4)
(e) Assume that the economy produces only two goods: military goods and civilian goods. Using a correctly

labeled production possibilities curve, show the effect of the increase in military expenditures from part (b),

labeling the initial point as C and the new point as D. 

7. 

[image: image12.png]‘The unemployment rate is an important indicator of the health of the United States economy.

(a) Assume that with the economy at full employment, the goverment implements an expansionary fiscal
policy. How does the actual unemployment rate at the new short-run equilibrium compare with the natural
rate of unemployment?

(b) Assume that a significant number of workers are involuntarily changed from full-time to part-time
employment. Explain how this will affect the number of people who are officially classified as unemployed.

(¢) Assume that the government reduces the level of unemployment compensation.
(i) Explain how this affects the natural rate of unemployment.
(i) Using a correctly labeled graph, show how this affects the long-run Phillips curve.




8. 

[image: image13.png]Explain how each of the following will affect long-run aggregate supply (potential real gross domestic product).

(a) A decrease in the labor force participation rate
(b) Anincrease in the government deficit following a reduction in personal income taxes
() A decrease in the quantity of inputs required to produce a unit of output

(@) Anincrease in the quantity and quality of education

(¢) Anincrease in the rate of savings




Unit 4: Monetary Policy FRQs
1. The Federal Reserve can influence the supply of money.

(a) Assume that the Federal Reserve targets a lower federal funds rate.

(i) What open market operation can the Federal Reserve use to achieve the lower target?

(ii) Given your answer to part (a)(i), what will happen to the price of government bonds?

(b) Using a correctly labeled graph of the money market, show the effect of the open market operation from part (a)(i) on the nominal interest rate.

(c) Assume that the Federal Reserve buys government bonds from commercial banks. Based only on this transaction, will the level of required reserves in the commercial banks increase, decrease, or remain the same?

(d) Another monetary policy action involves changing the discount rate. Define the discount rate.

2. 

[image: image14.png]Janet Smith deposits $1,000 of her cash holdings in her checking account at First Federal Bank. The reserve

requirement is 20 percent and the bank has no excess reserves.

(@) What s the immediate effect of her deposit on the money supply? Explain why.

(b) What s the maximum amount of money First Federal can initially loan out? Explain how you determined
this amount.

(©) What is the maximum amount of money the entire banking system can create? Explain how you determined

is amount.
(@) Give one reason why the money supply may not increase by the amount you identified in (c).





3. 

[image: image15.png]‘The Federal Reserve buys $5,000 in bonds from Clark Consulting Services, which then deposits the money ina.
checking account at First Generation Bank.

(@) As a result of the Federal Reserve’s action, what is the change in the money supply if the required reserve
ratio s 100 percent?

(b) If the required reserve ratio is reduced to 10 percent, calculate the following.
(i) The maximum amount this bank could lend from this deposit
i) The maximum increase in the total money supply from the Federal Reserve’s purchase of bonds

(€) 1f banks keep some of the deposit as excess reserves, how will this influence the change in the money supply
that was determined in part (b)(i)? Explain.

() If the public decides to hold some money in the form of currency rather than in demand deposits, how will
this influence the change in the money supply that was determined in part (b)ii)? Explain.




4. The following is a simplified balance sheet for Mi Tierra Bank in the United States.
[image: image16.png]Mi Tierra Bank

Assets Liabilities
Required reserves  $10.000 | Demand deposits $100,000
Excess reserves 55,000

Loans $85.000 | Owner’s equity 50





(a) What is the reserve requirement?

(b) Assume that Luis withdraws $5,000 in cash from his checking account at Mi Tierra Bank.

 (i) By how much will Mi Tierra Bank’s reserves change based on Luis’ withdrawal?

 (ii) What is the initial effect of the withdrawal on the M1 measure of money supply? Explain.

 (iii) As a result of the withdrawal, what is the new value of excess reserves on the balance sheet of

Mi Tierra Bank based on the reserve requirement from part (a) ?

(c) Assume that the next day John withdraws from Mi Tierra Bank an amount that exceeds the bank’s excess

reserves. Assuming that no loans are called in, how can Mi Tierra Bank cover its required reserves?

5. 
[image: image17.png]In recent years, the Federal Reserve has made targeting the federal funds rate a main focus of its monetary

policy.

(a) Define the federal funds rate.

(b) If the Federal Reserve wants to lower the federal funds rate, what open-market operation would be
appropriate?

(¢) Assume that the open-market operation that you indicated in part (b) is equal to $10 million. If the required
reserve ratio is 0.2, calculate the maximum change in loans throughout the banking system.

(d) Indicate the effect of the open-market operation that you indicated in part (b) on the nominal interest rate.

(e) Assume that the Federal Reserve’s action results in some inflation. What would be the impact of the
open-market operation on the real rate of interest? Explain.




6. Sewell Bank has the simplified balance sheet below. [image: image18.png]Assets Liabilities

Required reserves 52,000 | Demand deposits 510,000
Excess reserves S0 Owner's equity 510,000
Customer loans $8.000

Government securities (bonds) 7,000

Building and fixtures 53,000





(a) Based on Sewell Bank’s balance sheet, calculate the required reserve ratio.

(b) Suppose that the Federal Reserve purchases $5,000 worth of bonds from Sewell Bank. What will be the

change in the dollar value of each of the initially after the purchase?

 (i) Excess reserves

 (ii) Demand deposit

(c) Calculate the maximum amount that the money supply can change as a result of the $5,000 purchase of

bonds by the Federal Reserve.

(d) When the Federal Reserve purchases bonds, what will happen to the price of bonds in the open market?

Explain.

(e) Suppose that instead of the purchase of bonds by the Federal Reserve, an individual deposits $5,000 in

cash into her checking (demand deposit) account. What is the immediate effect of the cash deposit on the

M1 measure of the money supply?

7. A drop in credit card fees causes people to use credit cards more often for transactions and demand less money.

(a) Using a correctly labeled graph of the money market, show how the nominal interest rate will be affected.

(b) Given the interest rate change in part (a), what will happen to bond prices in the short run?

(c) Given the interest rate change in part (a), what will happen to the price level in the short run? Explain.

(d) Identify an open-market operation the Federal Reserve could use to keep the nominal interest rate constant

at the level that existed before the drop in credit card fees. Explain.

8. 

[image: image19.png]Banks play an important role in determining changes in the money supply.

(a) Assume that a bank receives a cash deposit of $9,000 from a customer. What is the immediate impact of this
transaction on the money supply? Explain.

(b) Suppose that the reserve requirement is 10 percent and banks voluntarily keep an additional 10 percent in
reserves. Calculate each of the following.

(i) The maximum amount by which this bank will increase its loans from the transaction in part (a)
(i) The maximum increase in the money supply that will be generated from the transaction in part ()

(¢) Assume that the goverment increases spending by $9.000, which is financed by a sale of bonds to the
central bank.

(i) Tndicate what will happen to the money supply.
(i) Explain what will happen to the money demand.




9. In Country Z, the required reserve ratio is 10 percent. Assume that the central bank sells $50 million in

government securities on the open market.

(a) Calculate each of the following.

(i) The total change in reserves in the banking system

(ii) The maximum possible change in the money supply

(b) Using a correctly labeled graph of the money market, show the impact of the central bank’s bond sale

on the nominal interest rate.

(c) What is the impact of the central bank’s bond sale on the equilibrium price level in the short run?

(d) As a result of the price level change in part (c), are people with fixed incomes better off, worse off, or

unaffected? Explain.

10. Assume that the United States economy is currently in a recession in a short-run equilibrium.

(a) Draw a correctly labeled graph of the short-run and long-run Phillips curves. Use the letter A to label a point

that could represent the current state of the economy in recession.

(b) Draw a correctly labeled graph of aggregate demand and aggregate supply in the recession and show each

of the following.

 (i) The long-run equilibrium output, labeled Yf

 (ii) The current equilibrium output and price levels, labeled Ye and PLe, respectively

(c) To balance the federal budget, suppose that the government decides to raise income taxes while maintaining

the current level of government spending. On the graph drawn in part (b), show the effect of the increase in

taxes. Label the new equilibrium output and price levels Y2 and PL2, respectively.

(d) Assume that the Federal Reserve uses monetary policy to stimulate the economy.

(i)What open-market policy should the Federal Reserve implement?

(ii) Using a correctly labeled graph of the money market, show how the policy in part (d)(i) affects nominal interest rates.

(iii) What will be the impact of the policy on the price level? Explain.

(e) Now assume instead that the government and the Federal Reserve take no policy action in response to the

recession.

(i) In the long run, will the short-run aggregate supply increase, decrease, or remain unchanged? Explain.

(ii) In the long run, what will happen to the natural rate of unemployment?

(Do part d after unit 5)
11. The central bank of the country of Sewell sells bonds on the open market.

(a) Assume that banks in Sewell have no excess reserves. What is the effect of the central bank’s action on

the amount of customer loans that banks in Sewell can make?

(b) Using a correctly labeled graph of the money market, show the effect of the central bank’s action on the

nominal interest rate in Sewell.

(c) What is the effect of the central bank’s action on each of the following in Sewell?

 (i) Price level

 (ii) Real interest rate. Explain.

(d) Given your answer in part (c)(ii), how is the international value of Sewell’s currency, the ono, affected?

Explain.
12. Assume that the reserve requirement is 20 percent and banks hold no excess reserves.

(a) Assume that Kim deposits $100 of cash from her pocket into her checking account. Calculate each of the

following.

 (i) The maximum dollar amount the commercial bank can initially lend

 (ii) The maximum total change in demand deposits in the banking system

 (iii) The maximum change in the money supply

(b) Assume that the Federal Reserve buys $5 million in government bonds on the open market. As a result of

the open market purchase, calculate the maximum increase in the money supply in the banking system.

(c) Given the increase in the money supply in part (b), what happens to real wages in the short run? Explain.
13. Assume that the United States economy is in long-run equilibrium with an expected inflation rate of 6 percent and an unemployment rate of 5 percent. The nominal interest rate is 8 percent.

(a) Using a correctly labeled graph with both the short-run and long-run Phillips curves and the relevant

numbers from above, show the current long-run equilibrium as point A.

(b) Calculate the real interest rate in the long-run equilibrium.

(c) Assume now that the Federal Reserve decides to target an inflation rate of 3 percent. What open-market

operation should the Federal Reserve undertake?

(d) Using a correctly labeled graph of the money market, show how the Federal Reserve’s action you identified

in part (c) will affect the nominal interest rate.

(e) How will the interest rate change you identified in part (d) affect aggregate demand in the short run?

Explain.

(f) Assume that the Federal Reserve action is successful. What will happen to each of the following as the

economy approaches a new long-run equilibrium?

 (i) The short-run Phillips curve. Explain.

 (ii) The natural rate of unemployment
14. 

[image: image20.png]Interest rates are important in explaining economic activity.

(a) Using a correctly labeled graph of the money market, show how an increase in the income level will affect
the nominal interest rate in the short run.

(b) Using a correctly labeled graph of the loanable funds market, show how a decision by households to
increase saving for retirement will affect the real market interest rate in the short run.

() Suppose that the nominal interest rate has been 6 percent with no expected inflation. If inflation is now
expected to be 2 percent, determine the value of each of the following.

(i) The new nominal interest rate

(ii) The new real interest rate




15. 

[image: image21.png]Assume that the table below shows the unemployment and inflation data in Country X as a result of a shift in
aggregate demand.

Period | Unemployment Rate | Inflation Rate
Last year 2% 8%
“This year 5% 4%

(a) Draw a correctly labeled graph of a short-run Phillips curve for Country X, showing the actual
unemployment and inflation rates for both years. Label the Phillips curve as SRPC.

(b) Now assume that the short-run aggregate supply curve has shifted to the left.
(i) Identify one factor that could cause the aggregate supply curve to shift to the left.
(ii) On the graph, show how this shift would affect the short-run Phillips curve.

(€) Assume that the natural rate of unemployment in Country X is 5 percent. Draw a correctly labeled graph
of the long-run Phillips curve and label it as LRPC.

(d) What s the relationship between the unemployment rate and the inflation rate in the long run?




16. 

[image: image22.png](a) Draw a correctly labeled graph showing the short-run and long-run Phillips curves for Country X.
(b) Identify how each of the following affects inflation, unemployment, and the short-run Phillips curve.
(i) An increase in government spending
(i) A drop in inflationary expectations
(c) Identify the effect of increased unemployment-insurance benefits on the long-run Phillips curve.




17. 

The unemployment rate in the country of Southland is greater than the natural rate of unemployment.

(a) Using a correctly labeled graph of aggregate demand and aggregate supply, show the current equilibrium

real gross domestic product, labeled YC, and price level in Southland, labeled PLC.

The president of Southland is receiving advice from two economic advisers—Kohelis and Raymond—about

how best to reduce unemployment in Southland.

(b) Kohelis advises the president to decrease personal income taxes.

(i) How would such a decrease in taxes affect aggregate demand? Explain.

(ii) Using a correctly labeled graph of the short-run Phillips curve, show the effect of the decrease in taxes.

Label the initial equilibrium from part (a) as point A, and the new equilibrium resulting from the

decrease in taxes as point B.

(c) Raymond advises the president to take no policy action.

(i) What will happen to the short-run aggregate supply curve in the long run? Explain.

(ii) Using a new correctly labeled graph of the short-run Phillips curve, show the effect of the change in

the short-run aggregate supply you identified in part (c)(i).

19. Assume that the United States economy is currently operating below the full-employment level of real gross

domestic product with a balanced budget.

(a) Draw a correctly labeled graph of aggregate demand, short-run aggregate supply, and long-run aggregate

supply, and show each of the following in the United States.

(i) Current output and price level, labeled as Y1 and PL1, respectively

(ii) Full-employment output, labeled as Yf

(b) The United States government increases spending on goods and services by $100 billion, which is financed

by borrowing. How will the increase in government spending affect each of the following?

(i) Cyclical unemployment

(ii) The natural rate of unemployment

(c) If the marginal propensity to consume is equal to 0.75, calculate the maximum possible change in real gross

domestic product that could result from the $100 billion increase in government spending.

(d) Using a correctly labeled graph of the loanable funds market, show the effect of the $100 billion increase in

government spending on the real interest rate.

(e) Based on the real interest rate change in part (d), what is the effect on the long-run economic growth rate?

Explain.

(f) Now assume that instead of financing the $100 billion increase in government spending by borrowing, the

United States government increases taxes by $100 billion. With this equal increase in government spending

and taxes, will the real gross domestic product increase, decrease, or remain the same? Explain.

20. Inflation and expected inflation are important determinants of economic activity.

(a) Draw a correctly labeled graph of a short-run Phillips curve.
(b) Using your graph in part (a), show the effect of an increase in the expected rate of inflation.
(c) What is the effect of the increase in the expected rate of inflation on the long-run Phillips curve?
(d) Given the increase in the expected rate of inflation from part (b),

 (i) will the nominal interest rate on new loans increase, decrease, or remain unchanged?

 (ii) will the real interest rate on ne`w loans increase, decrease, or remain unchanged?

(e) Assume that the nominal interest rate is 8 percent. Borrowers and lenders expect the rate of inflation to be 3 percent, and the growth rate of real gross domestic product is 4 percent. Calculate the real interest rate.

21. Assume the United States economy is operating at full-employment output and the government has a balanced budget. A drop in consumer confidence reduces consumption spending, causing the economy to enter into a recession.

(a) Using a correctly labeled graph of the short-run Phillips curve, show the effect of the decrease in

consumption spending. Label the initial position “A” and the new position “B”.

(b) What is the impact of the recession on the federal budget? Explain.

(c) Assume that current real gross domestic product falls short of full-employment output by $500 billion and

the marginal propensity to consume is 0.8.

(i) Calculate the minimum increase in government spending that could bring about full employment.

(ii) Assume that instead of increasing government spending, the government decides to reduce personal

income taxes. Will the reduction in personal income taxes required to achieve full employment be

larger than or smaller than the government spending change you calculated in part (c)(i) ? Explain

why.

(d) Using a correctly labeled graph of the loanable funds market, show the impact of the increased government

spending on the real interest rate in the economy.

(e) How will the real interest rate change in part (d) affect the growth rate of the United States economy?

Explain.

Unit 5: Exchange Rates  

1. Balance of payments accounts record all of a country’s international transactions during a year.

(a) Two major subaccounts in the balance of payments accounts are the current account and the capital account.

In which of these subaccounts will each of the following transactions be recorded?

 (i) A United States resident buys chocolate from Belgium.

 (ii) A United States manufacturer buys computer equipment from Japan.

(b) How would an increase in the real income in the United States affect the United States current account

balance? Explain.

(c) Using a correctly labeled graph of the foreign exchange market for the United States dollar, show how an

increase in United States firms’ direct investment in India will affect the value of the United States dollar

relative to the Indian currency (the rupee).
2. Suppose that Mexico decreases its tariff rates on all of its imports of automobiles from abroad.

(a) Will each of the following groups benefit from the decrease in the tariff rate?

 (i) Mexican consumers

 (ii) Mexican automobile manufacturers. Explain.

(b) How would the decrease in the tariff rates affect each of the following in Mexico?

 (i) Current account balance. Explain.

 (ii) Capital account balance

(c) Given the change in Mexico’s current account in part (b)(i), what will happen to the aggregate demand in

Mexico?

3. The United States and South Korea are trading partners, and the United States has a zero current account balance. Assume now that the inflation rate in the United States decreases relative to the inflation rate in South Korea.

(a) Based on the decrease in the inflation rate in the United States, will United States exports to South Korea increase or decrease?

(b) Based on the change in United States exports in part (a), answer each of the following.

(i) Will the United States current account balance remain at zero, be in surplus, or be in deficit?

(ii) What will happen to real gross domestic product in the United States in the short run? Explain.

(c) The South Korean currency is the won. Draw a correctly labeled graph of the foreign exchange market for the United States dollar. Show the effect of the lower inflation rate in the United States on the won price per United States dollar. 

4. Assume that the United States economy is operating at full employment.

(a) Using a correctly labeled graph of the long-run aggregate supply, short-run aggregate supply, and aggregate

demand, show each of the following.

 (i) Current price level, labeled PL1

 (ii) Current output level, labeled Y1

(b) Assume that personal savings in the United States increase. Using a correctly labeled graph of the loanable

funds market, show the impact of the increase in personal savings on the real interest rate.

(c) Based on the real interest rate change identified in part (b),

 (i) will interest-sensitive expenditures increase, decrease, or remain unchanged?

 (ii) what will happen to the rate of economic growth? Explain.

(d) Assume that the real interest rate of the euro zone increases relative to the real interest rate of the

United States. Draw a correctly labeled graph of the foreign exchange market for the euro and show

the impact of the change in the real interest rate in the euro zone on each of the following.

 (i) Demand for the euro. Explain.

 (ii) Value of the euro relative to the United States dollar

(e) Assume that the United States current account balance is zero. Based on the change in the value of the euro

identified in part (d)(ii), will the United States current account balance now be in surplus, be in deficit, or

remain at zero?

5. Assume that the country of Rankinland is currently in recession.

(a) Assume that Rankinland produces only food and clothing. Draw a correctly labeled production possibilities

curve for Rankinland. Show a point that could represent the current output combination and label it A.

(b) Assume that the Central Bank of Rankinland pursues an expansionary monetary policy.

 (i) Identify the open-market operation that the Central Bank would use.

 (ii) Draw a correctly labeled money market graph and show the short-run effect of the expansionary

monetary policy on the nominal interest rate.

 (iii) Assuming no change to the price level, what happens to the real interest rate as a result of the

expansionary monetary policy? Explain.

 (iv) Given your answer to part (b)(iii) regarding the real interest rate, what happens to the real gross

domestic product (GDP) in the short run? Explain.

(c) Suppose Rankinland has a current account deficit. Rankinland’s currency is called the bera.

 (i) What will initially happen to the current account deficit in Rankinland solely due to the change in the

real GDP from part (b)(iv) ? Explain.

 (ii) What will happen to the international value of the bera solely due to the change in the real GDP from part (b)(iv) ? Explain.

6. Japan, the European Union, Canada, and Mexico have flexible exchange rates.

(a) Suppose Japan attracts an increased amount of investment from the European Union.

 (i) Using a correctly labeled graph of the loanable funds market in Japan, show the effect of the increase

in foreign investment on the real interest rate in Japan.

 (ii) How will the real interest rate change in Japan that you identified in part (a)(i) affect the employment

level in Japan in the short run? Explain.

(b) Suppose in a different part of the world, the real interest rate in Canada increases relative to that in Mexico.

 (i) Using a correctly labeled graph of the foreign exchange market for the Canadian dollar, show the

effect of the change in real interest rate in Canada on the international value of the Canadian dollar

(expressed as Mexican pesos per Canadian dollar).

 (ii) How will the change in the international value of the Canadian dollar that you identified in part (b)(i)

affect Canadian exports to Mexico? Explain.

7. Assume that yesterday the exchange rate between the euro and the Singaporean dollar was 1 euro = 0.58

Singaporean dollars. Assume that today the euro is trading at 1 euro = 0.60 Singaporean dollars.

(a) How will the change in the exchange rate affect each of the following in Singapore in the short run?

 (i) Aggregate demand. Explain.

 (ii) The level of employment. Explain.

(b) Suppose that Singapore wants to return the exchange rate to 1 euro = 0.58 Singaporean dollars.

 (i) Should the Singaporean central bank buy or sell euros in the foreign exchange market?

 (ii) Instead of buying or selling euros, what domestic open-market operation can the Singaporean central

bank use to achieve the same result? Explain.

8. A United States firm sells $10 million worth of goods to a firm in Argentina, where the currency is the peso.

(a) How will the transaction above affect Argentina’s aggregate demand? Explain.

(b) Assume that the United States current account balance with Argentina is initially zero. How will the

transaction above affect the United States current account balance? Explain.

(c) Using a correctly labeled graph of the foreign exchange market for the United States dollar, show how

a decrease in the United States financial investment in Argentina affects each of the following.

 (i) The supply of United States dollars

 (ii) The value of the United States dollar relative to the peso

(d) Suppose that the inflation rate is 3 percent in the United States and 5 percent in Argentina. What will happen

to the value of the peso relative to the United States dollar as a result of the difference in inflation rates?

Explain.

9. Assume that the real interest rates in both Canada and India have been 5 percent. Now the real interest rate in

India increases to 8 percent.

(a) Using a correctly labeled graph of the foreign exchange market for the Canadian dollar, show the effect of

the higher real interest rate in India on each of the following.

 (i) Supply of the Canadian dollar. Explain.

 (ii) The value of the Canadian dollar, assuming flexible exchange rates

(b) Using a correctly labeled graph of the loanable funds market in Canada, show how the increase in the real

interest rate in India affects the real interest rate in Canada.

10. Assume that as a result of increased political instability, investors move their funds out of the country of Tara.

(a) How will this decision by investors affect the international value of Tara’s currency on the foreign exchange

market? Explain.

(b) Using a correctly labeled graph of the loanable funds market in Tara, show the impact of this decision by

investors on the real interest rate in Tara.

(c) Given your answer in part (b), what will happen to Tara’s rate of economic growth? Explain.
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The graph above shows the loanable funds market for a country.

(a) Assume that now the country’s government increases deficit spending. Explain how the increase in deficit
spending will affect the real interest rate.

(b) Indicate how the real interest rate change you identified in part (a) will affect investment in plant and
equipment.
(¢) Explain how the real interest rate change you identified in part () will affect long-term economic growth.

(d) Explain how the real interest rate change you identified in part () will affect each of the following in the
foreign exchange market.

(i) The demand for the country’s currency
(ii) The value of the country's currency
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[image: image24.png]Due to an international financial crisis, Canada experiences a significant inflow of funds from other countries.
Explain the effect that this inflow of funds will have on the following.

(a) The international value of the Canadian dollar
(b) Canadian net exports

() The real interest rate in Canada.

(d) The level of investment in Canada
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[image: image25.png]Country Y is experiencing severe and unanticipated inflation.
(a) Explain the effect of this inflation on each of the following.
(i) A family with savings in a fixed-interest-rate time deposit account
(ii) A business repaying a long-term, fixed-interest-rate loan
(b) Identify one fiscal policy action that could be implemented to reduce inflation.
() Identify an open-market operation that could be implemented to reduce inflation.

(d) Suppose that Country Y continues to experience high inflation in the long run. Indicate the effect of
this inflation on the nominal interest rate in Country Y.

() If Country Y's inflation is high relative to that of other countries, explain the effect of this inflation on
the international value of Country Y’s currency.




